\ CESIEX - Y e *
B #FR G rgmn xn SRR AR B wn i 3

—) \ , ? - \

\ "%?M\%V(ﬂ g;?f}%;\ ?%%2.6\” (Standand Poretvation
AeS%) @z’%ﬁzg\fh (1o%) -
\2) %%p%]ﬂ' %ﬁ ﬁ?\ Q& 2N %é? CPT ( Cone Penctiation Test.) &)
P RAOH ST Hert 2 b K L (%)

\;)v{m};@\éﬁi’\zji/%fﬁczo, $=30"" o
\)%éé %\ %% f\\cfﬁ‘) / &%2)_5 ) ’\)d' -’-.ZO,Z?:L \ilrm go.ew\x;;;
‘é%?ﬁ, $: 180 0 3% ‘/ffiiz‘ ¥: }~§%’ ’ O*ML;T?MTJ'

o 7"\)(;;
W Lot Vedt BT AR L g A
BBRERIIE Qn GRFS-3). (0)
2 TR B AR o TR M £ BB Quee AT B4
ZN¥a% (%)
P Itk SR RE & NGE 0

X’%’\%%(CW‘), O 0.2 o¥ 07 45 > .}

J/Qo\

2|

)?»ﬂdywx’) lo \O 20 30 wo  kp  pbO Jo

CRAEE T UUTY)

(1
3«9
md

<




R T ET T U ST
). Tﬁ»ﬁ%fé%ﬁﬁk%’?\ 000 2N 2 &%—ﬁi, z’\?‘{)}é@ ’é‘%«}svmm,
BIBm R R R K E s Wk e BBE I b 30
MR TACAS I G Bl Rk B 1x.

CRRBE B Fo =3 . 1o FR U AB Bdbuian Jacter = o) 6o

Y £ 7.80 SR 438 A

\ D0
3 Y10
b 5
q \7{
‘2 \3 5

\} Aot bem o 1B\ 5 %, kA% 1k o, R
&) v @?3‘7“'5% o A B YL %}«zz% - e
B s .

\&) 330 .= 1M/

&&&&&&&&&&

T LB G o307 3w

&m 7. Y21 85490 4= -f"\
L1 SN

Rftlrr Bens AL 18 Bidsm,
5= \\7§'H%/M" & z30°, foﬁ =

-

ke p =, k-

" E=18E5Mafnd s ypo, KAK G L 3mpm
@Lr’%ﬁ‘ﬁzﬂg (,SMCRM?Q) P lﬂ—""a/m’ \27 B Ew

2xBh g, ER BN BF G uRIE A

DORSE BB g, (0%)

@ BRAMABED T URR K- wof - RS
MAEAL Mg [w? T >0 Mgt D (0%)






